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Mental Aptitude Test / Reasoning (Q-40) (M-100)
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Total Question - 160 & Total Marks - 400 (Time-120 min.)



Exam Syllabus / wdern ugassa

. Problem based on Alphabet - JUIHTAT 9T TR 92T

. Coding and Decoding Test - Hohd ToIlT 3R @rhias fofd & HSI

. Direction Sense Test - %QTF?I'IFFW&:I'UT, Blood Relation - Y& HFdotT

Syllogism - =TI f9THT, Venn Diagram and Chart Type-a?-r IR 3R 9C el
. Arranging in Order-shH H cIaiedd ol

Letter and Number Series-376TX 3 &I 8|{s|<>1|

. Word, Number and Alphabet Analogy-?leq, {-NAI 3 qUTATAT A AT

. Word, Number and Alphabet Classification-Teq, &7 3R quTATer & FafiepIor
. Symbol-Relationship Interpretation- Hehd-GFael fageivor

10. Arranging in order-shH H Iaiead e

11. Sitting Arrangement- doh cIaEAT

12. Missing Character, Figure Counting- Icloibcl 3cdd, 3-TIT=I'71?T3TU'IT-IT

13. Machine Input, Data Sufficiency, Inequallty, Decision makmg T sol4c, 3T cI'<’3I’1'T<-IFIT,
3GAAT, AT @IFIT

14. Non Verbal-aITd cl@loi Logical Reasoning- difeher doh

15. Dice, Calendar, Clock, ArlthmetlcalreasonmgWTfaT-ﬁ'J Flé? qrar, shels, g3l
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Q-1. In a certain code language ORIENTAL is written as ITLPKQYJ then how will
PAYMENTS be written in that code language?

v ARTT F1T H9T & ORIENTAL FY ITLPKQY) for@T Srar & ar 34 f1E
TYT A PAYMENTS &1 3 for@r sAem?

A. QCBQPQLW
B. KHGEZKRA
C. QCBGEZPQ
D. QCBQRKRA




Q-2. In a certain code language HOUSE is written as 34 then how will SMILE be
written in that code language?

Teh [AfTd hIg AT H HOUSE &t 34 for@r Srar € o 38 hig HwT |
SMILE I &8 fol@r e

B. 35




Q-3. Select the related word/letter/number/figure from the given alternatives.

feT 7T fashedl H & W™ 2leq / 38T HEAT / 3THid &I IFT HIfT|

Thunder: Rain::?: Night
AT IR : ;2T

(A) Day / ﬁ?r

(B) Dusk / %I‘a?»lT
(C) Dark / 3TeRT
(D) Evening / am=




Q-4. Select the related word/letter/number/figure from the given alternatives.

feT 1T faeshoul # @ HeTOd Asq / e HEAT / A H Tl HSTH

4:36::7 :49

(A) 6
(B) 8
(C) 7
(D) 5




Q-5. Select the related word/letter/number/figure from the given alternatives.

feT 1T fashodl # @ HeTOd Asc/ET/HEIITHIA &l AT It

FH:0Q::?:VP

(A) ON
(B) MG
(C) QP
(D) J1



Q-6. Select the related wqrpl/letter/number/fjgure from the given alternatives.
feT v Aweal ﬁr @r HETOd QAec/3ETVHEIN/THIA 1 TgeT HIfAT]

Chimney : Smoke .7

=R ‘éT3-1T

(A) Gun : Bullet / 9TeT : EI?I'C
(B) House : Roof/m Sd

(C) Clay : Ceramlc/ﬁ'c‘ff RfAs
(D) Tea : Kettle / T : ahdell




Q-7. Select the related word/letter/number/figure from the given alternatives.

feT 1T faehodl @ HeTd Asc/E/HEIITHIA &l AT il

(A) Withdrawal [T

(B)
(©)
(D)

Deduction &eldr
Deposit STAT

Debit 2fde



Q-8. Select the related word/letter/number/figure from the given

alternatives.
fT 1T fdshedl # @ HeTSd Asc/3ET/HEINITHIA & T HIfTT|

(A) 28, 46
(B) 25, 61
(C) 95, 77
(D) 36, 44




Q-9. Select the related word/letter/number/figure from the given

alternatives.
fT 1T fdshedl # @ HeTSd Asc/3ET/HEINITHIA & T HIfTT|

(A) DEB
(B) RTP
(C) HIF

(D) NOL



Q-10. Select the related word/letter/number/figure from the given

alternatives.
fT 1T fashedl # @ HTOd Asc/3ET/HEIITHIA H I HIfSIT|

(A) 42 :2
(B) 81: 9
(C) 24 : 6
(D) 54 : 17



Q-11. In the following letter series how many T’s are immediately followed by S,
but not |mmed|ately preceded by W?

AT 38T el H T fohcdel T ol Red 91 S, olfchat
FR_CTWWFI%T%

WTSSWTYUWDFSTSHKMWSTQYWSTMO

A. One Teh
B. Two al

C. Three dliel
D. Four dI¥




Q-12. Arrange the following words as per order in the dictionary.

AT T 2Uscl S AsEHIeT H 3% HH & T A IIEAd HY|

1. Reliable
3. Remembrance
5. Receptionist

2. Remarkable
4. Reluctant



Q-13. A series is given with one term missing. Choose the correct

alternative from the given ones that will complete the series.
QT Teh oIt g & A &1 15 g1 & a1 fashedl & @ 389 T&Y fashed 1 I S
QT P G HL|

6, 11, 19, 33, 59, ?

(A) 99
(B) 87

(C) 102
(D) 109




Q-14. A series is given with one term missing. Choose the correct alternative from
the given ones that will complete the series.

HET Th ofcd Uc o 1Y &1 15 gl f&F I el & ¥ 39 Il [ddhey
aéra?ra’rmafrwaw‘l?m

87,84,82,81,77,78, 7,7

(A) 76, 75
(B) 72, 75
(C) 76, 74
(D) 75, 73




Q-15. A series is given with one term missing. Choose the correct

alternative from the given ones that will complete the series.

FGAT Th oo qqchﬂwapf?lé%lﬁﬁrm?rﬁarﬂﬁﬁﬂﬂ%‘rﬁﬂﬁaﬁﬁ
mﬁw I |

FLJ, IOM, LRP, OUS, ?

(A) RXV
(B) RYU
(C) RMX
(D) RXT




Q-16. Find the missing number from the given responses.

e 13 fawed A ¥ ocd &I AT HifoiC|

62 / 9
29 5 6
19 4 ?

OO ®m>
A OO W U



Q-17. A woman pointing to a person said, He is the nephew of my father’s only
daughter.” How is the woman related to the person?

Wmﬁw—eﬂ?&@raﬁ@wwd gU ahgl, "dg AN T
Sehelldl SCT T TS §1“ T HT T Tad T Hd &7

(A) Sister dgo1

(B) Grandmother Err
(C) Mother ATAr

(D) Aunty 37T




Q-18. One day Reena left school and walked 12 km towards North then she turned towards right
and walked 7 km and then she turned towards left and walked 12 km. Again she turned towards
right and walked 10 km. In which direction is she from her school?

Teh oot T Tt @ 12 AT 3AT 1 3T el [T W FH3HT 7 fHAT Tell 3R O
awngav{lzﬁm‘raﬁrqd qsmmloﬁsﬁﬁla‘e"mwﬁﬁmﬁan

S T

A. North-west 3d3{-9T9dH
B. South-west &T&OT-gIgH

C. South-east E('TQ'UT-CI“T:([
D. North-east 3_rl'\"-tl:qc’




Q-19. In each question given below two/three statements are followed by two conclusions numbered | and Il. You have to take
the all given statements to be true even if they seem to be at variance from the commonly known facts. Read the conclusions
and decide which logically follows from the two given statements disregarding commonly known facts: AT Tcddh 9T H

g/ YT g a1 Ty 13R 11feT v §1 T3 FUAT T & AT U (Ig I FTHCITAT ol a2ai 9 Fed Far
o @) fsasf & gget 3TYS Ig aF e ¢ & T & Ty difde &9 T dedfied &

Statements shd:

All Akash is a good doctor.

All Doctors are usually intelligent.

Conclusions

(1) All intelligent are doctors.

(11) All Akash is intelligent.

A. If only conclusion | follows. afe Ay | 3TTEIOT Il gl
B. If only conclusion Il follows. Ife Ay II3-|o-N-|{U| h{dl
el

C. If neither conclusion | nor Il follows. TTE o ar @Sy |
3R & 8 11 3TEIOT AT

D. If both conclu5|ons | and Il follow. TTS sy 130 1 Efl?ﬁ
3TTETOT A &




Q-20. In each of the following questions a statement is given followed by two courses of Action. A courses of Action is taken for
improvement, follow up etc. Read the statement carefully and give answer-

A fST Jcdeh 9o H Teh YA g &l HAdANedl ¢l HIs T HrAaEr fhell FUR AT 3Mer T fohar e gicll §1 HYe! S LFeTqdeh ¢ 3N 3R
afar -

Statement: Tourism in India is an industry with huge potential but India’s share is very less in world’s total tourism

sector. / el : TAcT ART H Teh deﬁWWﬁWW?@WWWW%@H?
Wqﬁmmﬁqsd S gl

Courses of action /EFI?fIEIT%?IIT

|. Heritage monuments should be sold to a country.ﬁTI'\’:IFf TARS & ¢ &l 97 f&ar JA=r vl

II. A committee should be constituted under the ministry of Tourism to address the problems of tourism industry.

T afAfa e 3T & TATASN A Tde & ol 9heed AFAT & 3dId TAT AT ARy

A. If only course of Action | follows.
B. If only course of Action Il follows.

C. If neither course of Action | nor Il follows.

D. If both courses of Action | and Il follow.



Q-21. In each question given below two/three statements are followed by two conclusions numbered | and Il. You
have to take the all given statements to be true even if they seem to be at variance from the commonly known facts.
Read the conclusions and decide which logically follows from the two given statements disregarding commonly

known facts: siid Tcdeh 92T H Gl/dled T T ¢f 5wy 13X 117ST 917 g1 Tt U« HF T AlTd gU
(TTe ¥ GACITTAT T a2t & Feed 7t o g) sl & uged U Jg qg AT g & ST &
faspy arfehes ¥ & 3edfedied ol

Statements shdT:

Some girls are beautiful. TS oIS fohaT, Hoal gl

All girls speak softly. it oIsfehaT, 3:['51'\" drerar gl

Conclusions foTsery:

(1) Girls who are beautiful also speak softly. oIsfehar S Hoal g, H‘ERF AT
St g1

(I1) Girls who speak softly are not necessarily beautiful. efsfehar St HLYRX sterdT
& SRl &1 gl Bl

A. If only conclusion | follows. fe Ay | JTTEIOT HIAT gl
B. If only conclusion Il follows. Ife Ay II3-|o-N-NU| h{dl
gl

C. If neither conclusion | nor Il follows. T & dr IGLAEDN 1 3R
T & 1l 3THOT T &

D. If both conclu5|ons | and Il follow. T sy | 33T I ALl

3TTHTOT I &




Q-22. Study the following information carefully and answer the questions given below

fArAfaf@d STl &1 egTqden Headel e 3R o 6 1 gedt & 39w df9T:

Eight books are kept one upon another. Statistic's book is fourth from the bottom and Sanskrit's
book is third from the top. There are three books between the books of English and Economics.
Hindi book is between the books of History and Economics. The book of Physics is at just below

the book of Mathematics. 316 J&ds UH-gER W & Sl & o AEFRr Hr fhare =@t 3R 3R @

Wﬁﬁo‘dﬁ?ﬁﬂfr%lH?)Gﬁﬁ?yﬁ%mﬁwa?aﬁﬁﬁ%ﬁmﬁ%lmﬁyﬁ%mﬁm
#aﬁaﬁﬁaﬁrmﬁlwﬁaaﬁrm$waﬁaﬁﬁmaﬁﬁﬂaﬁl

Which book is at top?

98 IR HiA-Hl fohdia g7
A. Mathematics TT0TT

B. Physics Hifas

C. Economics 37T

D. Cannot be determined

TRT A8 RaT 31 ahdr &




Q-23. Study the following information carefully and answer the questions given below

fArAfaf@d STl &1 egTqden Headel e 3R o 6 1 gedt & 39w df9T:

Eight books are kept one upon another. Statistic's book is fourth from the bottom and Sanskrit's
book is third from the top. There are three books between the books of English and Economics.
Hindi book is between the books of History and Economics. The book of Physics is at just below

the book of Mathematics. 3TT& G&dh k’ch-q\{-ﬁ Y {7 JATdT gl o Fifegenr $r fohde
Aol 3R IR A T B e Ed E1 3 3R srdterey Hr Reael & &
dieT fohare &1 sfdera 3R 3emes &1 foharer & o &7 Bedr $r fohara g1 1o &r

frdie & aid < #Hifde A1 frae gl

R

How many books are taken between the
books of History and English? / SfdgrT 3
33deir &1 foharer & 7T fohdelr fohare
g?

A. Two @l

B. Three dlel
C. Fourdi¥
D. One Udh




Q-24. If '+' stands for 'division',' X' stands for 'addition’, '-' stands for
'multiplication' and '=" stands for 'subtraction’' then which of the
following equation is correct?

gie '+, ‘amer & faw ;' X, Sgt & faw -, Tom & faw iR TS, '"ee & T g
ar AT & @ &l a1 gEeor T8 7

A. 36 X6+7 +2-6=20
B. 36+6-3 X5=<3=24
C.36 -6 X3 X5-3=45
D. 36-6+3 X5—+3=74




Q—25 What will come at the opposite side of 2 in the following dice? /

e T 9 #H 2 & A9did arell Idg 9X AT 379m?

Spiags




Q-26. Which of following diagrams best depicts the relationship among Sparrow,
B|rd and Cat?

AEATITT & @ Hid T i N1, 9&ft IR fSoell & &g qoaeer HI

Hell AT Gl g?
& @)@ F
C D




Q-27. How many triangles are there in the given

figure?

feg 3

3 Rrg 3F frcey Peger 32

o 0w p

12
11
14

. 15



Q-28. The questions given below contain two/four statements giving certain data. You have to
decide whether the data given in the statements are sufficient for answering the question.

S feU 7T geaAt A QAR FUAT & AEIH @ FS SAARINAT &7 75 § 39! T§
BT T § T FAT ST F &) IS SRR 39 & & A g ¥

Who is wife of 5? /5 T Ucall hleT %?
() Pisbrotherof3and4./() P 3 3R 4 & 341? gl

(1) 4 is daughter of 6 and is sister of 5's daughter. / (Il) 4, 6 1 Cl'aﬁ %’ IR 5 & Cl_aﬁ T dgeT
gl

A. Only | sufficient Shdel | 9aTCd gl

B. Only Il sufficient shdel I 9ATCT g1

C. Neither I nor Il sufficient T @r IsT @ [l 9ATcd &
D. Both | and Il sufficient &1t | 3iR 11 9ATCd g




Q-29. From the given answer figures, select the one in which the question figure is
hidden/embedded. /&7 T 3R 3ThidAl H & 3H Teh bl ITeA Y ST T2

T A Heallad &7

Question Figure: Answer Figure:

N\ Ap A | WV

(A) (B) (C) (D)




Q-30. Aarav's birthday is on 12 March Sunday. If Madhup was born on 10th August,
then on what day will Madhup's blrthday be in the same year?

12 AT QAR &l 3IRG O'Io-J-IIC\O‘l gl Ife 10 3T =l HYYT FT S
gmﬁsﬁaﬁmw SleATeT g &I grem?

A. Thursday LICEIR
B. Wednesdaya‘ﬂT:I'IT
C. Friday QW

D. Saturday GRS




Q-31. 5 Persons- A, C, P, Q and D are sitting on a straight bench. A is sitting third to
the right of P. C sits between P and D. P and Q sits on extreme end of the bench.
5SgfFd- A, C, P, QIR D UG BN dTT WSS A, PFH SR dIIRT §aTgl C, P 3R
DT H d3Tg| P IR QT & HfdA BR WdsA g

How many persons sits between Q and C? /Q 3R C *@Hﬁﬂﬁ@'ﬁ?—fé@%?

A). None/&IS gl
B). 1
Q). 2
D). 3




Q-32. Which answer figure will complete the pattern in the question figure?

PIA-HY 3T ThId 9T Pl A JeoT A g HEA?




Q-33. When a word and number arrangement machine is given an input line of words and

numbers, it arranges the following a particular rule.
SIS Teh Usq 3R F&AT qaedT AMA A1 el IR HEA3HT dT Ueh g9 oSl &

ST &, o I8 Aeafai@a T JAW @gd I cgaear #dr g

Input : 51 pour 31 star new 23 47 home
Step 1: 23 51 pour 31 star new 47 home
Step 2 : 23 star 51 pour 31 new 47 home
Step 3 : 23 star 31 51 pour new 47 home
Step 4 : 23 star 31 pour 51 new 47 home
Step 5: 23 star 31 pour 47 51 new home

Step 6 : 23 star 31 pour 47 new 51 home
As per the rule followed in the following questions
the appropriate step for the given input.

If Input is: 32 proud girl beautiful 48 55 97 rich, How many

steps will be required to complete the given input?
A.5 B.4 C.6 D. 7/



Q-34. When a word and number arrangement machine is given an input line of words and

numbers, it arranges the following a particular rule.
SIS Teh Usq 3R F&AT qaedT AMA A1 el IR HEA3HT dT Ueh g9 oSl &

ST &, o I8 Aeafai@a T JAW @gd I cgaear #dr g

Input : 51 pour 31 star new 23 47 home
Step 1: 23 51 pour 31 star new 47 home
Step 2 : 23 star 51 pour 31 new 47 home
Step 3 : 23 star 31 51 pour new 47 home
Step 4 : 23 star 31 pour 51 new 47 home
Step 5: 23 star 31 pour 47 51 new home

Step 6 : 23 star 31 pour 47 new 51 home

As per the rule followed in the following questions
the appropriate step for the given input.

If Input is: 32 proud girl beautiful 48 55 97 rich, which of the

following will be last step?
A. 32 rich 48 proud 55 girl 97 beautiful B. 32 rich proud 55 48 girl 97 beautiful

C. 55 girl 97 beautiful 32 rich 48 proud D. 97 rich 55 proud 48 girl 32 beautiful




Q-35. In each question below is followed by a statement and two arguments | and Il. You have to decide which of the following
arguments a strong argument is and which is a weak argumgnt.Fﬁﬁ feT T g+ T & d¢ Teh U 3R af d& 13iR
1 8T T §1 39l Tg T HE § fob Aelali@d H 8 ST 6T deh Teh Holgd deh o AR i 61 HHAGN deh ol

Statement : Should the Parliamentary elections in India be held on a the gap of two years
throughout the country?

HAT: AT WRA H T 397 H G ATA oh A U AHST FATST AT Tohg T ATT702

Arguments :

l. Yes, this will provide a proper ruling system in the country. =t, e 29 @ sfea ot womet
T YT

Il. No, some other countries hold elections after two years. @i, %o 3= 391 3t re1 18 I
AT Tl B

(A) If only argument | is strong. afe saet aek 1 A<TEm 2
(B) If only argument Il is strong. afs srae ae 2 a9d &
(C) If neither I nor Il is strong. afs a1 3R T & 2 7=q 2
(D) If both | and Il are strong. afg 1 siR 2 T 7eTaw &




Q-36. In each question below is followed by a statement and two arguments | and Il. You have to decide which of the following

arguments a strong argument is and which is a weak argumgnt.Fﬁﬁ feT T g+ T & d¢ Teh U 3R af d& 13iR
1 8T T §1 39l Tg T HE § fob Aelali@d H 8 ST 6T deh Teh Holgd deh o AR i 61 HHAGN deh ol

Statement : Should the system of paylng the mlnlmum purchase price for farmers for wheat, rice and like
be scrapped in India? : T WRA H fRETT o foTq T8, <Teel 3R 6T & o =AdH TRIE Hod 3hi HIAH i

ShT STEAT hl GHTH ST AT STHT =TfRu?

Arguments :

l. No, farmers who produce our staple food must get decent returns on their investment and

labour in a Welfare State like India. o_-I't?f ETWWHLQ STt ST 3cTGe hid % 3_%'
T ST HoIOTRRT ToT H 3797 fAaer 3K 8/ |1 31va| Rea AT anfgu|

Il. Yes, it is an outdated practice which we must discard. sl g Uch w#rcrm%%@rgﬁr 21El

T AR

(A) If only argument | is strong. afs %aet @ 1 w<aa 2
(B) If only argument Il is strong. afs et @& 2 weaa 2
(C) If neither | nor Il is strong. afz T ar 1 3R T &t 2 wstaw 21
(D) If both | and Il are strong. afz 1 31 2 =T AT &




Q-37. In each question below is given a statement followed by two assumptions numbered | and Il. You have to
consider the statement and the following assumptions and decide which of the assumptions is implicit in the statement.

d U 9T A YT H Ueh Yo fear aar § fo9es &g af 317d | 3R 11 f&T arw | 379ehr e 3iR
RefafRa aRomst W AR & § 3R 99 a1 § B #ia O 9Rom e F PRa P

Statement: Read the notice before entering the club. deld H U I § gl AlleH Uo |

Assumption : ‘
(1) People are literate. o197 TT&T & ‘ .
(1) Club is not for blind people. FId AFaled 9N & ToIT gl &l

A. Ifonlylisimplicit.?ilﬁ( chdol Iﬁaﬁ'%?f %'I

B. If only Il is implicit. T hdel 1 37dfefed &l

C. If neither I norll isimplicit.??lﬁ'( o dr 13 o &l Ilﬁﬁﬁ'%?f gl
D. If both I and Il are implicit. T 13X 1= 3dffed gl




Q-38. Zis the son of L and the husband of G who is the sister of R and W then how
is Z related to W?

Z LA 9T g IR Gaar gfa g, S RIAR Whr dga g, dFf z W T IR
Haftd &7

Father / TOaT
Brother-in-law / SIGI-SeT-oll
Husband / 9fa

Son / §eT

OO w®wZP




Q-39. Find the figure out of the answer choice figures, that can be formed by joining the pieces
glven in the flgure

3 e & st A ¥ 37 3TH(d & IaT @y, 58 3Mpfd & CT v CGhSI I
fRTRT I ST HehdT ¢

A A TIN

(X) (A) (B) (C) (D)




Q-40. Among five books A, B, C, D and E each has a different weight, book A is heavier than book
E but lighter than Book C, Book D is heavier than book B. Book C is not heavier than book D.
Which of the following represents the books that are the heaviest?

qrT GEIRT A, B, C, D3 EH A TcAeh I IAN-37elaT HR FHI & gl A, J&ds EH
Y § AT TEAF CH goH ¥, TEAH D, TEAH B W ¥ TEAF C, e DF H

8l gl
fefai@d # 9 Sl Ta8 ART JEIRT FT FidAEed FHIAT 672

OO0 w>»
o O Mg




